LNG 202, Quiz 1, February 3, 2017 (5 points; 10 minutes)
1) Consider this sentence from our textbook and answer the questions that follow:
“Some reasons for studying the history of English are intrinsic to the language as it has developed and been studied over time, and some are intrinsick to the student’s individual educational interests.”
a) The verb phrase “has developed” expresses both the time (tense) and the nature (aspect) of the action “develop.” What tense and aspect is “has developed” in?




b) What kind of verb is “are” in “are intrinsic”? (circle the correct answer)
	1. modal auxiliary	2. tense/voice auxiliary		3. linking verb

c) Is the suffix “-‘s” in “student’s” an inflectional or derivational affix?
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2) Consider these two statements. Which one expresses a “descriptive attitutde” toward language and which expresses a “prescriptive attitude” toward language?
a) When the word “because” appears before a noun, such as in the phrase “because science,” it functions as a preposition.


b) Use the definite article the before names of rivers and geographical areas but not before the names of lakes or continents (the Nile, the Middle East AND Lake Tahoe, Asia).
